Admiral LNC6764A71 05 - CONTROL PANEL

Admiral Residential Admiral LNC6764A71 Washer Parts Parts Diagram 05 - CONTROL PANEL
Click on the part number to view part

1 21001543 Panel, Control

" 53-1639 Buzzer Assembly

2 253092 90767 Screw, 8A X 3/8 HeX Washer
— Head Tapping

" 21001546 Endcap, Panel

3 21001547 Endcap, Panel

" 253092 90767 Screw, 8A X 3/8 HeX Washer
“ Head Tapping

4 21001226 Switp_h, Water Temp. 4

. Position
" 253092 90767 Screw, 8A X 3/8 HeX Washer

Head Tapping
5 21001554 Switch, Water Level
Screw, 8A X 3/8 HeX Washer

25-3092 90767 Head Tapping
6 21001520 Skirt, Timer Knob
7 21001526 Knob, Timer

8 25-7851 Speedclip, End Cap To Top


http://www.pwslaundry.com/c-502728-residential-admiral-lnc6764a71-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10394466-admiral-21001543-washer-panel-control.html
http://www.pwslaundry.com/i-10393098-admiral-53-1639-washer-dryer-buzzer-assembly.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10392906-admiral-21001546-washer-dryer-endcap-panel.html
http://www.pwslaundry.com/i-10392908-admiral-21001547-washer-dryer-endcap-panel.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10393012-admiral-21001226-washer-switch-water-temp-4-position.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10392912-admiral-21001554-washer-dryer-switch-water-level.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10392914-admiral-21001520-washer-skirt-timer-knob.html
http://www.pwslaundry.com/i-10392916-admiral-21001526-washer-knob-timer.html
http://www.pwslaundry.com/i-10392671-admiral-25-7851-washer-dryer-speedclip-end-cap-to-top.html

10 25-7853 25-7933 Ring, Retaining

Screw, 8A X 3/8 HeX Washer

25-3092 90767 Head Tapping

1" 21001929 Timer

Screw, 8A X 3/8 HeX Washer

" 25-3092 90767 Head Tapping

13 53-2504 31001193 Pad, Shield

" 21001603 Shield, Control

Screw, 8A X 3/8 HeX Washer

25-3092 90767 Head Tapping

16 21001482 Switch, Momentary

18 21001939 Harness, Wiring


http://www.pwslaundry.com/i-10392917-admiral-21001552-washer-dryer-frame-control-panel.html
http://www.pwslaundry.com/i-10392757-admiral-25-7933-washer-dryer-ring-retaining.html
http://www.pwslaundry.com/i-10392675-admiral-25-3457-washer-dryer-screw-sems.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10392919-admiral-21001527-washer-dryer-shield-rear.html
http://www.pwslaundry.com/i-10393097-admiral-21001929-washer-timer.html
http://www.pwslaundry.com/i-10393052-admiral-21001595-washer-timer.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10392922-admiral-21001544-washer-dryer-knob-selector.html
http://www.pwslaundry.com/i-10392924-admiral-31001193-washer-dryer-pad-shield.html
http://www.pwslaundry.com/i-10392924-admiral-31001193-washer-dryer-pad-shield.html
http://www.pwslaundry.com/i-10393020-admiral-21001603-washer-dryer-shield-control.html
http://www.pwslaundry.com/i-10393875-admiral-21001687-washer-switch-speed.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10393107-admiral-21001813-washer-switch-rocker.html
http://www.pwslaundry.com/i-10393106-admiral-21001482-washer-switch-momentary.html
http://www.pwslaundry.com/i-10394467-admiral-21001939-washer-harness-wiring.html
http://www.pwslaundry.com/i-10393111-admiral-21002025-washer-harness-wiring.html

	Admiral LNC6764A71 05 - CONTROL PANEL

